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INTRGDUCTION

All lessons in this series, Czech Motorized Rifle Trcops, sSim-
ulate the interrogation of a source captured in a fictitious armed
conflict in Europe. In this module, the interrocgator questicns
the source about the methods used to initiate the attack. e
narrative in this lesson supports the dialog and cutlines Laz.C

fadmbs

principles of offensive combat as practiced by thz I2%.

OBJECTIVE

At the end of this lesson, you will be able to obtain whatcever
information is known to the source about the march formation, ap-
proach=march formation, combat formation, and about the forms of
maneuver used in the offense. You will be able to do this by
speaking with confidence, with 100 percent listening accuracy, and
without loss of time for consulting lexical aids.
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SUGGESTIONS FOR STUDYING

Remember, this program is self-instructional, and YOU are the
only person responsible for your learning. It is up to YOU to
determine where, when, and how you want to proceed. The followine
hints may help you to achieve the best rasults.

1.

2.

3.

4.

Make sure you have all the necessary materials and equip-
ment before starting. :

Regular, short, and frequent working periods are recom-
mended.

Find a quiet, comfortable place where you will not be dis
turbed.

Do not write your answers in this booklet. Use your own
paper.

Repeat each exercise until you thoroughly understand the con-
tents and can competently perform the required tasks before movin
on to the next exercise.
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LESSON ORGANIZATION

Vocabula Pretest provides Czech sentences with underlined key
words and phrases to be translated by you in writing. This pretest
is designed to given you a preview of the vocabulary you will need
to know to attain the objective of this lesson.

Study Resource 1 is the taped vocabulary with additional example

sentences together with the words and phrases introduced in the
pretest. Practice Exercise 1 is based on these vocabulary items.

study Resource 2 is a Czech narrative outlining the principles of
offensive combat in the CPA. Practice Exercises 2-4 are based on
Study Resource 2.

Stud “hesourcé 3 is part of a continuing interrogation used in
these lessons. Practice Exercises 5-7 are based on Study Re-
source 3.

self-Evaluation Test consists of a short taped dialog based on all
e study Resources and Practice Exercises of this lesson.

Pranslations of Study Resources

The Enrichment Supplement is designed to provide you with addition-
al vocabulary and experience in translating Czech. An article
which describes a forced river crossing by Czech motorized rifle
troops is included.
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VOCABULARY PRETEST

Instructions: Write the English meaning of the underlined words

‘and phrases as used in the context of each sentence. Skip the
ones you cannot translate. Check your answers with the key.

1.
2.
3.
4.
Se
6.
7
. 8.
9.
10.
1ll.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.

22.

Tam jsou jednotky druhosledového praporu.

Tak mohutnou palbu jsem nikdy nezaZil.
Po prolomenf{ pfednfho okraje provedte obchvat.

Jejich pdtra& (pdtraci vozidlo) je dobfe vybaven(o).

Soudoby boj klade diraz na pohyblivost jednotek.

Tanky pronikly do hloubky obrany.

prevlddd ndzor, Ze to nemusime dé&lat.

Rozbily se mi hodinky.
Mezi Sté&ky byly dvacetimetrové rozstupy.
V rozhodném okamZiku éeta‘provedla zteé.

Rozptylenim jednotek se sniZila jejich zranitelnost.

Doba udtoku byla stanovena na 06:00 hod..

Tohle je varianta rozkazu k dtoku na kdtu 554.

Jakmile zadne nepiftel Wto&it, musite ndm d4t vystrahu.
Prvni &eta byla za&lené&na do druhého sledu.

Zalesnénd strin zpomalila postup tanki.

Desdtnfka RGZi&ku jsme si zvolili za mluv&iho.

Maj{ mdlo bitevnich vrtulnikd.

Druh4d Seta provedia bo&ni manévr do pravého boku nepiitele.

Jakou bojovou sestavu pouZivdte v obrané&?

Druhému sledu jsem uréil jen smér postupu.

YV rozkaze velitel ur&il pochodovou sestavu roty.




'ﬁf 23.
2.
25,
- 26.
- 27,

28.
.29,
30.

31.

V pfedbojové sestavé postupovali aZ na &iru ztele.
Rdmus tankd byl pfehluSen vybuchem.

Pfipravnd palba trvala jen pil hodiny.

Nepf{tel pouZil sestavu "v linii." |

Stietny boj se vyznaduje rychlymi zménami situace.
V takové situaci tanky Sasto dto&f{ "dhlem vpied."

‘sdhlem vzad" se dtod{ v hloubce obrany.

Vyjit{ z boije bude kryt tfetf &eta.

Ve vychodidti k dtoku jednotka zaujala bojovou sestavu.:

MTT-2
VPT
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STUDY RESOURCE 1

Instructions: Below is a list of the new vocabulary items that
will be used in this lesson. Each Czech word or phrase will be
repeated twice on tape and then the example sentence will be give
once. Repeat each word or phrase and the example sentence to

?aster this vocabulary before going on to the next part of the
esson.

Slovizka

1. druhosledovy - second echelon

Druhosledové jednotky musely zasdhnout 4o boje.

Second-echelon units had to enter into combat.

2. mohutny - massive, impressive
Jejich délostfeleckd palba byla mohutnd.

Their artillery fire was impressive.

3. obchvat - envelopment

Obchvat prvniho sledu se nepodafil.

The envelopment of the first echelon was not successful.

4, pétra&, pdtraci vozidlo - scout car (vehicle)
N43 pdtrac spatfil v ddol{ nepidtelskou prizkumnou hil{dk

Our scout vehicle spotted an enemy reconnaissance patrol
in the valley.

5., pohyblivost - mobility
Nem&li dostatek bojovych vozidel. Chybé&la jim pohyblivo

They didn't have enough AFVs. They lacked mobility.



10.

1l.

12.
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pronikat, proniknout - to penetrate, work one's way through

Nepfiteli se nepoda¥ilo proniknout na3fm prvnim sledem.

The enemy failed to penetrate our first echelon.

pfevliddat, pfevlddnout - to predominate, be predominant
U jednotky pievlddd Spatnd mordlka.

Bad morale is predominant in the unit.

rozb{jet, rozbit - to wreck, smash, break, crush, shatter
Prvn{ prapor rozbil odpor nepfitele.

The lst Battalion crushed the enemy's resistance.

rozstup, rozestup - interval (lateral)
UdrZujte rozstupy!

" Maintain your intervalsl

rozhodny - decisive, resolute, energetic
Kapitdn Divoky je rozhodny velitel.

Captain Divoky is an energetic commander.

rozptyleni - dispersal

Nezranitelnost zdleZela na rozptyleni jednotek.

Vulnerability (literally: invulnerability) depended on
the dispersal of the units.
stanovovat, stanovit - to designate, set, state, determine

Velitel stanovil pofad{ odchodu jednotek 2z vyckdvaciho
postaveni.

'The commander determined the sequence of the units'
departure from the holding position.
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13. 'va:ianta - variation, modification, alteration
Druhd varianta pldnu byla zadto&it z chodu.
A second variation of the plan was to attack from the

march.

i4. vystraha - warning

Vystraha, Ze nepfitel pouZil jaderné zbrané, bude dervend
raketa.

A red flare will be the warning that the enemy used
nuclear weapons.
15. za&ledovat, za¥lenit - to attach, assign, incorporate, includ

Velitel praporu za&lenil oba protitankové kanony do druh#
roty. ,

The battalion commander assigned both antitank cannons to
the 2nd Company.

16. zalesnény - wooded, forested
zalesn&ny terén poskytoval dto&icim jednotkdm ochranu.

Wooded terrain afforded protection for the attacking unit

17. zvolit si - to choose, elect, select

Druh4 rota pfedsunutého odfadu si zvolila jako opérny bod
malou vysinu.

The 2nd Company of the forward detachment selected a smal
rise for their strongpoint.
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Frize a terminy

" 18. bitevn{ vrtulnfk, bitevnf helikoptéra - assault helicopter,
' gunship helicopter

Na obzoru se objevily bitevn{ vrtulnfky.

Assault helicopters appeared on the horizon.

19. bo&ni manévr - flanking maneuver, envelopment, bypass

Pokuste se o to boénim manévrem!

Try to do it using a flanking maneuver!

20. bojovd sestava - combat formation
Bojovd sestava nepfitele byla naruSena.

The enemy's combat formation was disrupted.

21. druhy sled - second echelon
Zdlohy jsou umistény ve druhém sledu.

The reserves are located in the second echelon.

22. pochodovd sestava - march formation

Celd kolona byla pfipravena v pochodové sestaveé.

The whole column was ready in march formation.

23. pfedbojovd sestava - approach-march formation

Vozidla se Fadila do giedbojové sestavy.

The vehicles were taking their places in the approach-march
formation.

24, ptehlulovat, pfehlusit rdmus - to cover, deafen, drown out the
' noise, -sound

D&lostFfeleckd palba pfehlufovala rdmus motord tanki.

The artillery fire drowned out the noise of tank motors.

9



25.

26.

27.

28.

29.

30.

sl.
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pi{pravnd palba - preparation fire
Piigravné palba zacala v 05:30.
Preparation fire started at 0530 hours.

sestava v linii - line formation

- ” - s &
Rota zaujala sestavu " v linii."

The company formed a line formation.

stfetny boj - meeting engagement
Jakmile zaZne stfetny boj, pouZijte rddial

Use radios as soon as the meeting engagement begins!
dhlem vpfed - wedge formation
zaujméte sestavu "dhlem vpied"!

Take up a wedge formation!

dhlem vzad - reverse wedge

P¥i zte&i z boku rota dtodf "dhlem vzad."

During the flank assault the company attacks in a revers
wedge formation.

vyjiti z boje - withdrawal

Vyjit{ z boje pfedsunutého odfadu kryla 2. baterie.

The withdrawal of the forward detachment was covered by
the 2nd Battery.

vychodi¥té k dtoku - assault position

Jednotky se pfesunovaly do vychodisté k dtoku.

The units were moving into an assault position.

10
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PRACTICE EXERCISE 1

" rnstructions: Using the following words or phrases, complete the
.. sentences below. :

" druhosledovy zalesnéném druhého sledu

i prdzkumnd hlfdka pdtrac{ vozidlo vystrahu

rozstupy variantu pohyblivost

- hornaty rozbila protitankovému

. obchvat rozptyleni kandnu
pohyblivosti bitevnfho vrtulniku - pronikly
bojové sestavé pronikla druhy sled
1. Nepiftel se pokusil 0 « « ¢ ¢ « ¢ « o o &
2. Velitel roty tam‘vyslal e o o s o o o s o o
3, Spojka 3. roty . . « « o o o » motocykl.
4. Ty Otédka majf malé . . . . . .
5. V disledku hrozfctho nebezpe&{ velitel praporu vydal rozkaz k

* ® [ ] L] L * * * L J j ednotek L]

6. V pfipadé nepidtelského utoku ndm dejte vEaAS ¢ ¢ 4 o o o o o
7. l. rota zaujala poziCe V « « « o ¢ ¢ o o o o o = terénu.
8. Ten tank zasdhla stfela 2 « « « o ¢ o ¢ o o

Ceta postupovala v . . « + ¢ o « o -
2. rota postupovala jako &3st . . . < ¢ o ¢ o o
Soudoby boj si vyZaduje velkou . . .+ « ¢ ¢ o o o jednotek.

TANKY o o o o o o o s o o @ pfednim okrajem obrany.

11
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STUDY RESOURCE 2

Instructions: The following narrative describes the training and
tactics used by the CPA. Read the narrative several times until
you are familiar with the content. Then listen to the narrative
on tape, following the text in your book.

Jtodny boj

Cilem dto&ného boje je dosaZen{ vit&zstvi nad nepiitelem, Jjehe
yplné zni&enf a ovlddnuti dlleZitého prostoru.

Jto&fc{ jednotky se snaZi dosdhnout cile co Vv nejkratsim dase.
P{m si vytvdfeji{ lep3{ podminky k pfekvapen{ nepiitele a nedovoli
mu reagovat na nové vzniklou situaci.

Uto&ny boj se vede v rychlém tempu a v udzké soudinnosti vSech
druhd vojsk a zbrani. Vzhledem k tomu, Ze dtolny boj se casto
. vede v zna&né hloubce nepidtelské obrany, kde je tfeba vyuZivat
nejen terénu, ale taky mezer a odkrytych bokd v bojovych sestavdcl
nepfitele, soudoby udtoény boj md manévrovy charakter, ktery vyzZa-
duje vysokou pohyblivost vojsk a bojové techniky. Vzhledem k
rychlym a nédhlym zméndm bojové situace, ndsilnym p¥echodim vodnic]
ptekdZek, manévrovdn{ & bojim v horskych a zalesnénych oblastech,
je k uspdchu dtoéného Loje zapotiebi sm&ld a iniciativni &innost
jednotek. Jednotky musf byt s to vyuZivat zmén Vv taktické situac
ve svij prospé&ch. To vyZaduje dzkou spoluprdci a soudinnost vele
na v3ech stupnich.

V¢hodou dto&icich jednotek je moZnost zvolit si pfedem &as a
misto, kde md k boji dojft. K zajisSténi dspé&chu je v3ak nutné
vybudovat pfevahu nad nepiitelem jak v palebné, tak i v dderné si
Vliastni dtok provddéj{ motostfelecké a tankové jednotky po mohutn
délostfelecké pfipravé, podporované v pribé&hu akce dal3{imi ddery
letectva a délostfelectva. Pronikajf do tylu nepiitele, kterého
zni&f po &dstech, rozbfjeji jeho bojové sestavy palbou vlastnich
zbran{ a nakonec ho zni&f rozhodnou zte&f. V celém pribéhu dtoc-
ného boje vzristd dloha taktickych vzduZnych vysadkd a vrtuln{kd,
hlavné bitevnich.

Prvnim dkolem udto&icich jednotek je prolomeni pfedniho okraje

nepfdeelské obrany a to bud dtokem z chodu nebo Utokem z pfimého
dotyku.

12
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Jtok z chodu se miZe uskutednit:
- se zaujetim vy&kdvaciho postaveni, nebo

- bez zaujeti vy&kdvactho postaveni s nasazenim druhych sledd
a zdloh. :

Utok z pffmého dotyku s nepf{telem se miZe uskuteénit:

- po pfeskupeni jednotek v dotyku a

- po vyst¥{ddn{ jednotkami pfesuﬁutfmi z hloubky.

Motostfeleckd rota v dtoku

Nadff{zeny velitel stanov{i veliteli roty bojovy iukol, ktery md
tasové a prostorové vymezenfi. Casové vymezen{ je ddno dobou nutnou
ke splnéni dkolu. Prostorové vymezeni je ddno 3ifkou a hloubkou,
Pro rotu Sffka bojového dkolu je 500 - 800 m. Hloubka bojového
dkolu je dédna bliZifm dkolem a smérem dal3fho udtoku. BliZSim
dkolem roty je obvykle zni&it nepfitele v opé&rnych bodech a tyto
opérné body ovlddnout. Sm&r dal3fho dtoku je stanoveni a upfes-
fovdn{ dal3fch bojovych ukold v hloubce obrany nepiitele.

KdyZ je rota zdlohou praporu, tak se ji stanovi jen smér a
zpisob postupu. Bojovy udkol dostdvd teprve pii zasazen{ do boje.,

V dto&ném boji rota miZe plnit dkoly v pochodové, piedbojové
a bojové sestavé.

v pochodové}sestavé miZe rota pilsobit:

- pti pfesunu z vy&k4vacfho prostoru na &dru ztece za dtoku
z chodu,

- pfi pfesunu v sestavé druhosledového praporu pii prilomu
pfednf{ho okraje obrany nepiitele,

- pfi plnén{ dkolu v sestavé praporu jako pfedsunuty odriad
(PO) .

V ptedbojové sestavé miZe rota pdsobit:

- za dtoku z chodu pfi rozvinovdn{ do bojové sestavy a za
ztede, kdy je obrana nepfitele do znaé¢né miry znilena,

- za dtoku z chodu v hloubce sestavy nepiitele, kdy situace
vyZaduje rychlé a rozhodné pronikdni do hloubky.

13
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Bojovd sestava se zaujimg k proveden{ ztefe na brdnicfho se
nepiitele.

MiZe mit tyto variénty:

- Bojovd sestava "v linii" se pouZivd b&hem ztede v otevieném
terénu, je-li pfedni okraj nepfdtelské obrany pfimocary,

- Sestava "thlem vpfed" se pouZivd v hiloubce nepfdtelské
obrany, kdyZ je situace nejasnd a napaden{ je moZné z které-
hokoliv sméru. Tato sestava se pouZivd hlavné pfi pronikdni
mezerou v bojové sestavé obrdnce, kdy je t¥eba umldet nepid-
telské zbrand na bocfch, vy&len&né na ochranu této mezery.

- Sestava ™ihlem vzad" se pouzivd k obejiti nepfitele a ke
zteci z boku.

Do bojové sestavy rot se zadlenujf Zenijni Zednotky a prostfed-
ky k déldnf prichodd v minovych polich a k pfekcndvdni zatarasenyct
prostort.

14
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PRACTICE EXERCISE 2

Instructions: On tape you will hear 12 questions in Czech. These
questions are based on information from Study Resource 2. Write
answers in English to these questions. You may refer to Study
Resource 2 as necessary.
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Rozvinutf{ motostielecké roty z prapornfho proudu
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PRACTICE EXERCISE 3

Instructions: You will hear 12 Czech sentences on tape. Stop the
tape and repeat each sentence until you can say it with ease. Wri
an English translation of each sentence.

0.f0pd00ido

e

J 40 100m

Bojovd linie motostfelecké roty

Bojovd linie tankové roty

16



4.

5.

9.

10.

11.

12.
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PRACTICE EXERCISE 4

Instructions: Change each of the following sentences into ques-
tions in Czech. Each question should focus on the underlined
portion of the sentence. '

In offensive combat, the assault activity of the units is
supported by gunship helicopters.

Nuclear weapons make possible the destruction of the defending
enemy in the entire depth of his combat formation.

In a situation in which weapons of mass destruction are not
used, the troops will fulfill ‘their offensive combat missions
with conventional weapons.

One of the most difficult tasks of offensive combat is, that of
breaking through the forward edge of the enemy,defenséﬁ

There are two forms of attack in contemporary theory and
practice,. the attack from the march and the attack from direct
contact.

During an atack from the march, the units do not take up an
attack position.

In such a case, the units launch an assault on the forward edge
of the enemy defense after the move of their combat formations

from the depth.

As a rule, a motorized rifle company will attack as part of
a battalion formation.

During the attack from direct contact, the units take up an
attack position.

An attack from direct contact will be carried out when nuclear
weapons are not used.

Preparation fire is opened before the units jump off for an
assault.

Engineer units and equipment are included in company combat
formations for making passages in minefields and for surmount-
ing the obstacled area.

17
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STUDY RESOURCE 3

Instructions: The following is part of a continuing interrogati
Read the dialog several times until you are thoroughly familiar
with its content. Then listen to the dialog on the tape while
following the printed text. '

Porud{ku Novdku, jakym zpisobem se za¥ind uytok?

Jak v teorii tak i v praxi rozezndvdme dva zdkladni zplis
zahdjen{ dtoku: utok z chodu a dtok 2z dotyku s nepiitel
Kterf zpisob udtoku se ofekdvd, Ze bude pfevlddat?

otekdvd se, Ze bude pfevlddat dtok z chodu.

Pro¥ se odekivd, Ze bude pfevlddat dtok z chodu?

ProtoZe poskytuje nejleps{ ochranu, jelikoZ jednotky Jsc
pivodné ve shromaZdistich za vlastnimi liniemi.

Popiste mi p¥echod do dtoku z chodu!

Jednotky se postupné& rozvinuji ze shromazdist& a% do vyc
disté k dtoku. Na udanych &irdch se rozvinou do praporn
rotnich a detovych proudd, jednotlivé etapy se postupné
nazyvajf pochodovd sestava, pfedbojavd sestava a bojovd
sestava.

Jaké nevyhody md dtok z chodu?

D&l velké potiZe pfi koordinaci nukleidrnich a konvenéni
prostfedkl pro podporu dto&icich vojsk.

Jaké vyhody md dtok z dotyku s nepfitelem?

Dovoluje lep$i organizaci boje, protoZe koordinace zteds
je lehé&i.

18



MTT-2
SR3

7. I: Jaké nevyhody md dtok z dotyku s nepiitelem?
S: Vystavuje jednotky nebezpe&{ dtoku b&hem organizace dtoku,

.také omezuje moZnost pfekvapeni.

8. I: Jaké zdkladnf formy manévrd se pouZivaji v soudasné dobé&?

S: V dtoku rozezndvdme dv& formy manévrd. Jsou to bo&ni .
manévr a obchvat. KdyZ se to hod{, miZe se pouZit kombi-
nace bo&nfiho manévru a obchvatu. :

9. 1I: _Popiﬁte mi bo&ni manévr!

S: Bo&n{ manévr-je forma manévru sm&fujfciho do baku nepfitele
pom&rné v nevelké hloubce, kterd dovoluje vzdjemnou paleb-
nou podporu &elné& a bo&né dto&icich vojsk.

10. I: Popi3te mi manévr k obchvatul

S: Obchvat je hlub&{ manévr (do boku a tylu nepiftele), ktery
vyZaduje od nepiftele zménu sméru boje. Tento manévr se
miZe uskutednit vyuZitim jak odkrytych bokl, tak i mezer
v bojové sestavé nepiitele.

1l1. I: Popiite mi kombinaci boéniho manévru a obchvatu!

S: Tato kombinace se miZe pduiit ve stfetném boji a bé&hem
prondsledovdni ustupujfcfho nepiitele, za d&elem pfekazit
mu vyjit{ z boje.

12. I: Dobrd, pane porudfku Novdku, promluvme si ted o taktice
3. msr. Jakou dto&nou taktiku pouzivd 3. msr?

S: A% do dne, kdy jsem byl zajat, jsme pouzivali sérii tak-
tickych sestav v&etné pochodové sestavy, ptedbojové
sestavy a bojové sestavy.

13. I: Tak dobrd, popi3te mi pochodovou sestavu, kterou pouzivd
3. msr!
S: Ta, kterou si pamatuju nejlip, byla pochodovd sestava,

pti které jsme ztratili jedno vozidlo - pitrade; alespoi
jsme si chvili mysleli, Ze jsme ho ztratili.
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Jak to, Ze si pamatujete tuhle pochodovou sestavu?

Protoze velitel roty zruSil zdkaz vysil4ni a ohldsil doty
s nepiftelem; zatim se jen stalo, Ze pdtrad sjel ze sil-
nice a byl chvili z jeho dosahu. '

Popiste mi tu pochodovou sestavul

Pochodovd sestava, kterou jsme bduiili, je jedna z variac
pochodového proudu, pfi které prvni vozidlo je nékolik
set metrd pfed sestavou, ale pofdd v dohledu velitele rot
Zzbytek rotnich vozidel ndsleduje v 25 - 50 metrovych
odstupech.

Popiste mi ptechod z pochodové sestavy do pEedbojové
sestavy!

To neni tak lehké, jak se to zdd4, protoZe druh pfedbojové
sestavy urduje manévrovaci prostor, ktery miZe byt omezen
terénem, prostorem nebo stavbami.

Pak jakou pfedbojovou sestavu pouZfivdte v otevieném terér
KdyZ se pohybujeme v otevieném terénu a kdyZ je pfedni
okraj nepifdtelské obrany relativné& rovny, pouZividme
sestavu "v linii".

Popiste mi sestavu "v linii®", kterou pouzivd 3. msr!

V této sestavé rozestupy &et jsou 150 aZ 400 metrl s vel:
telem roty 100 aZ 150 metrd za linif.

Jaké jiné ptedbojové sestavy pouZzivala 3. msr?

KdyZ jsme to&ili skrz mezery v nepidtelské obrané nebo
hloubce obrany, pouzivali jsme sestavu "dhlem vpied”.
Popiste mi sestavu "dhlem vpfed®, kterou pouZivala 3. ms]
Pfi sestavd'™dhlem vpred" &eta rozvine jednotlivd vozidl:
150 aZ 400 metrd pfed zbyvajicimi dvéma ZCetami, které se

taky rozvinou v linii 300 az 800 metrd od sebe, s veli-
telem roty 50 a%Z 400 metrid mezi nimi.
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Jaké jiné pfedbojové sestavy pouzivala 3. msr mimo tu
sestavu "dhlem vpied"? '

PouZivali jsme sestavu ™dhlem vzad" a "stupnovité& vpravo
a vlievo”".

Jaky je rozd{l mezi "dhlem vpfed a dhlem vzad"?

24kladnf rozdfl je v tom, Ze p¥i dhlu vzad jsou dvé &ety
rozvinuty vpiedu 300 aZ 800 metrd od sebe, s velitelem
roty 75 aZ 400 metrid pfed &etou vzadu.

Popiste mi sestavu "stupnovité vpravo"!

Sestava "stupnovité ravo nebo vlevo" se pouZivd, kdyZ
je ohroZen bok. Stupnovdni je ve sméru nebezpedi. V
sestavé "stupnovitd vpravo", dvé Cety jsou v linii 150 az
400 metrd od sebe, zbyvajici &eta je 150 aZ 400 metrid
vzadu a 150 aZ 400 metrd vpravo. Misto velitele roty je
150 aZ 300 metrd za &Setou, kterd je ve stfedu.

Jaké jiné pfedbojové sestavy pouZivala 3. msr?

Pokud vim, to jsou jediné pfedbojové sestavy, pouZivané
3. msr.

Jaké zajisténf jste m&li za pochodu?

Existujf rizné zplisoby zaji3téni za pochodu. Mezi nejdi-
leZit&j3{ fadime prizkum, ochranu proti zbranim hromadného
nideni{, protitankovou obranu, protileteckou obranu, masko-
védni, Zenijn{f zaji3tdn{ a organiza&ni zajistén{i.

Tak, a jaky prizkum se d&ld za pochodu?

Stile se prozkoumdvd osa postupu a boky. zajistuje to
v&asnou vystrahu pfed dtokem nepiftele a uréuje umisténi
jeho vojsk. (Prizkum) taky poddvd zprdvy o stavu po-
chodové osy, co se tykd prichodnosti a chemického, radi-
adnfho a bakteriologického zamoifeni.
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Jaké zaiiZtén{ se pouzivd k ochran& vojska proti dlinklm
zbrani hromadného nigeni?

K ochran& vojska se pouZivd aktivn{ obrana a pasivn{
ochrana. Na pf¥fklad, pasivnf{ ochrana je rozptylen{ vojs!
do &ffky a hloubky vietné vyznadeni zamofenych prostori
prizkumem. Aktivni obrana mi¥e zahrnovat véasné zjistén
umisténf ZHN a jejich zni&eni.

Jaké protitankové zajiSténi exiétuje za pochodu?

gzikladem této obrany jsou organické protitankové zbrane,
teré jsou zesileny tanky a samohybnymi dély podle toho,
jaké hrozi nebezpe&i.

Jaké protiletecké zajiSténi se pouz{vd za pochodu?

zajiZténi pochodového proudu se plédnuje pifedem a zahrnuj
organické protiletadlové zbrané a mnohé jiné protiletad-
lové prostiedky, poskytnuté nad¥{zenym velitelem.

Jaké je rozmisténi té&ch protiletadlovych zbrani?

Protiletadlové zbrané mohou byt umistény bud v pochodové
proudu anebo v piedem zaujatych pozicich. Ale bé&hem
pEibliZovdni v nepidtelském dzem{ jsou zbrand rozmistény
v celém proudu. '

Co dsld velitel v ptipadé nepidtelského leteckého dtoku:

D4 signdl k zahdjeni palby, na ktery miZe reagovat celd
protileteckd obrana. z4roven cely proud zvySi rychlost
odstupy vozidel se zvét3{ azZ na vzddlenost 100 metri me:
jednotlivymi vozidly.

Jaky zpisob utajeni se pouZivd b&hem pochodu?

Napifklad n&kdy se pochod provdd{ béhem ptipravné palby
coz pfehluS{i rdmus obrnénych vozidel. D4le pak je uéin
v3e pro kontrolu pochodu bez pouziti elektronickych pro:
stfedkd, které by mohly byt zjistény rddiem nebo radare:
nepiitele. 4
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'PRACTICE EXERCISE 5

Instructions: Close the book, rewind the tape, and listen to
Study Resource 3 again. Based on what you hear, write an answer
in English for each of the following questions. -

1. Jaké zpisoby dtoéného boje rozezndvadme?

2. Ktery zpisob dto&ného boje prev1ddd?

3. Jaky je postup pfi pfechodu do dtoku z chodu?

4. Jakou nevyhodu m4 dtok z chodu?

5. Vyjmenujte nevyhody utoku z dotyku s nepfitelem!
6. Které jsou dvé zdkladni formy manévru v dtoku?
7. Co jg to obchvat?

8; Které sestavy pouZivajil moﬁostfelecké jednotky?

9., Jakou pfedbojovou sestavu oby&ejné pouZivajl jednotky v otev-=
" feném terénu?

10. Jak veliké jsou roz(e)stupy et Vv sestavé "v linii"?

11. Jak vypadéAsestava roty, kdyZ dostane rozkaz "dhlem vpfed"?
12. Jak vypadd sestava "stupnovité vpravo"?

13. Vyjmenujte druhy zaji3tén{ za pochodu!

14. Co se stane v pfipadé nepfételského leteckého udtoku?

15. Prgé se pochod né&kdy provddi béhem ptipravné palby?
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PRACTICE EXERCISE 6

Instructions: On tape you will hear a short interrogation dialog.
The 'questions will be in English and the responses in Czech. Write
a Czech translation for each question and an English translation
for each response. Stop the tape to write each translation.

{leta

T

Vs thha
150 - Yim ﬁ 15- Y00m

0 - 00 m

Predbojovd sestava motostielecké roty
"$hlem vpted"
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PRACTICE EXERCISE 7

Instructions: For each of the following statements, write a ques-
tion in Czech that would elicit the underlined information..

3.

4.

10.

11.

12.

The two basic methods of initiating an attack are, attack from
the march and attack from position in contact.

During the attack from the march, the units make successive
deployments into battalion columns, company columns, and
platoon columns.

The attack from positions in contact permits a more refined
organization of the battle.

In the offense, we recognize two forms of maneuver, flanking
maneuver and the envelopment.

The flanking maneuver is directed at the enemy flanks and rear
in relatively shallow depth.

The envelopment is a deeper maneuver requiring that the enemy
turn and fight in a new direction.

The 3rd Motorized Rifle Company employed the following tactical

movements, march formation, approach-march formation, and
combat formation.

The company commander broke radio silence because he thought

that his scout vehicle was being fired upon.

During the march, the scout vehicle travels several hundred
meters ahead of the formation.

The scout vehicle must always be in the company comander's
line of sight.

The line formation is used when moving over open terrain and

when the forward edge of the enemy defense 1s relatively
stralght.

The wedge formation is used when attacking through gaps in the
enemy defense.
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KEY TO VOCABULARY PRETEST

Here are the translated sentances with underlined key words or

phrases.
1. The units of the second-echelon battalion are there.
2. I have never experienced such a massive fire. |
3. Aft:r breaking through the forward edge, carry out an envelop
ment.
4. Their scout vehicle is well equipped.
5., Contemporary combat stresses mobility of the units.
6. The tanks penetrated into the depth of the defense.
7. The predominant point of view is that we don't have to do it.
.8. My watch broke. |
9. There were twenty-meter intervals between the APCs.
10. At the decisive moment, the platoon carried out the final
assault.
11. The vulnerability of the units was lowered by their dispersa.
12. The time of the attack was set for 0600 hours.
13. This is a variation of the order for the attack on Hill 554.
14. You will have to give us a warning as soon as the enemy star
(begins) his attack.
15. The 1st Platoon was attached to the second echelon.
16. The wooded slope slowed down the tanks' advance.
17. We selected Corporal RiZi&ka as our spokesmaii.
18, They have véry few assault helicopters.
19. The 2nd Platoon carried out a flanking maneuver into the
enemy's right flank.
20. What combat formation do you use in defense?
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24.
25.
26.
27.

28.
29.

30.

31.
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I designated only the direction of advance for the second
echelon. - -

In his order, the commander specified the march formation of

- the company.

®

In app;oach—march formation, they advanced as far as the line
of final assault.

The noise of the tanks was drowned out by an explbsion.
Preparation fire lasted only half an hour.

The enemy used a line formation.

The meeting engagement is marked by quick changes in the
situation.

In such a situation the tanks often attack in wedge formation.

The reverse—wedge forﬁation is used for the attack in the
depth of the defense.

The withdrawal will be covered by the 3rd Platoon.

The unit assumed a combat formation in the assault position.
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KEY TO PRACTICE EXERCISE 1

Here are the translations of the words and phrases and the sen-

tences.

second-echelon wooded, forested second echelon
reconnaissance patrol scout vehicle warning
interval : variation mobility
mountainous smashed, wrecked antitank gun
envelopment dispersal penetrated
mobility assault helicopter second echelon
combat formation penetrate

1. The enemy attempted an envelopment.

2. The company commander dispatched a scout vehicle there,

. 3. The messenger of the 3rd. Company wrecked his motorcycle.
4. There was a small interval between the APCs.

5. Due to threatening danger, the company commander issued an
order for the dispersal of the units.

6. In case of enemy attack give us a timely warning.
7. The 2nd Company took up positions in a wooded area (terrain).

8. That tank was hit by a round from an assault helicopter.

’

9. The platoon advanced in-a combat formation.

10. The 2nd Company advanced as a part of the second echelon.

1l. Conteﬁporary combat requires high mobility of the units.

12. The tanks penetrated the forward edge of the defense.
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' AEY TO PRACTICE EXERCISE 2

Here are the questions you heard on tape in Czech and acceptable
answers in English. English translations are provided for your
reference,. .

1. Co je cflem dtoé&ného. boje?
What is the goal of offensive combat?
The goal of offensive combat is to achieve victory over th=

enemy, his complete destruction, and to gain control of an
important area.

2. Pro& se dto&fci jednotky snaZi dosdhnout cile co v nejkratsSim
éase?

Why do the attacking units attempt to reach the target in the
shortest possible time?

They attempt to reach the target in the shortest possible time
because that creates better canditions for surprising the enemy
and does not allow him to react to the newly developed situa-
tion.

3. Jak se vede dtoény boj?
How is offensive combat carried out?
Offensive combat is carried out at a fast tempo and with the

close cooperation of all branches of troops and weapons,

4. Kde se tasto vede udto&ny boj?

Where i1is offensive combat often carried ocut?

Offensive combat is often carried out in considerable depth
of the enemy defense.

29



1o.

MTT-
PE2 Re

'Co je tfeba vyuZivat v takovém pfipadé&?

What i1s necessary to exploit in such a case?
In such a case, it is necessary to exploit (not only) terrain

(but also) gaps, and unprotected flanks.

Jaky charakter md soudoby udto&ny boj?

How is contemporary offensive combat characterized?
Contemporary offensive combat is characterized by high maneu-
verability, which requires high mobility of troops and
equipment. '

Co je zapotfebf k usp&chu dto&ného boje?

What is required for the success of offensive combat?
Boldness and initiative of the units are required for the
success of offensive combat.

Co musi byt jednotky schopny délat?

what must the unit be able to do?

The units must be able to utilize changes in the tactical
situation for their own benefit.

Jakou spoluprdci a sou&innost to vyZaduje?

What kind of cooperation and coordination does this require?
This requires close cooperation and coordination of the comm:z
at all levels.

Jakou vyhodu maj{ dtodfci jednotky?

What kinc of advantage do attacking units have?

The advantage that attacking units have is the possibility o

selecting in advance the time and location for combat to taks
place.
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Které jednotky providdé&j{i vlastnf dtok?
What units carry out the actual attack?

The actual attack is carried out by motorized rifle and tank
unitse. )

Co pfedchdzf takovému idtoku?
What precedes such an attack?

Such an attack is preceded by a massive artillery preparaticn
fire.
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KEY TO PRACTICE EXERCISE 3

Here are the sentences you heard on tape in Czech and acceptable
English translations.

1.

Nadff{zeny velitel stanovi veliteli roty bojovy dkol.

The superior commander assigns the company commander the comba
mission.

Bojovy ukol roty md Zasové a prostorové vymezeni.

The company's combat mission has time and space limitations.

Bli%%fm dkolem roty je znifeni nepfitele v opérnych bodech.
The company's immediate mission is to destroy the enemy's
strongpoints.

Velitel praporu stanovi roté&, kterd je zdlohou praporu, jen
smér a zpisob postupu.

The battalion commander designates only direction and the
manner of advance for the company which is a battalion reserwve
24lo3n{ rota dostivd bojovy kol teprve pii zasazeni do boje.
The reserve company receives a combat mission only when it 1is
committed to combat.

V dtodném boji rota miZe plnit udkoly v pochodové, pEtedbojové

a bojové sestavé.

In offensive combat, the company can fulfill missions in marc
formation, in approach-march formation, and in combat formati
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V pochodové sestavé& miZe rota pisobit p¥i presunu z vy&kdvacino
prostoru na &iru ztede za dtoku z chodu.

In march formation, during the move from the holding position

~to the line of assault, a company may attack from the maxch.

Rota miZe taky plsobit v pochodové sestavé prIi plnén{ tkol: v
sestavé praporu jako pfedsunuty odiad.

puring the fulfillment of the mission in a battalion formatic:n.
a company can also-operate in march formation as a forwaxrd
detachment.

V pfedbojové sestavé miZe rota pisobit za dtoku z chodu pfi
rozvinoviani do bojové sestavy a za ztele, kdy obrana nepiitele
je do zna&né miry znilend.

In approach-march formation, a ¢ompany can operate during the
attack from the march while deploying into a combat formation
and during the final assault when the enemy defense suffers
considerable destructiom.

Bojovd sestava se zaujimd k provedeni ztede na brédnfcfho se
nepritele.

A combat formation is formed for carrying out the final as-
sault on the defending enemy.

Bdhem zte&e v otevieném terénu se pouZivd bojovd sestava

"v linii®.

An in=-line combat formation is used during the. final assault

in open terrain.

K obejitf nepfitele a ke ztedi z boku se pouZivd bojovd sestava

"dhlem wvzad".

A reverse-wedge combat formation is used to bypass the enemy
and for an assault from the flank.
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KEY TO PRACTICE EXERCISE 4

The following questions are acceptable. English translations a:
provided for your reference.

&fm je podporovdna udto¥nd &innost jednotek v dtoéném boji?

OR: Co podporuje dto&nou &innost jednotek v dtoéném boji?
What supports the assault activity of units in offensive co
Co umoZRuje zni&en{ brédnfcfho se nepiitele Vv celé hloubce j
sestavy?

What makes possible the destruction of the defending enemy

in the entire depth of his combat formation?

Jak budou vojska plnit udkoly dto&ného boje v situaci, kdyz
nebudou pouZity zbrané& hromadného nidenf?

How will the troops fulfill offensive combat missions in a
situation in which weapons of mass destruction will not be
used? ‘

Co je jednim z nejt&%3ich udkold dto&ného boje?

what is one of the most difficult tasks of offensive combat

Jaké formy dtoku existujf v soudobé teorii a praxi?

What forms of attack exist in contemporary theory and pract

Co nedé&laji jednotky pfi dtoku z chodu?

what is it that the units don't do during an attack from th
march?

OR: Co nezaujimaj{ jednotky pfi dtoku z chodu?

What don't the units take up during an attack from the marc
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7. Co d&lajf jednotky v takovém piipad&?

what do the units do in such a case?

~ Ve které sestavé zpravidla dtodf{ motostfeleckd rota?

As a rule, in whose (which unit) formation does a mectorized
rifle company attack?

9. Co zaujmou jednotky pfi dtoku z p¥imého dotyku?

What do the units take up during the attack from direct contact?

10. Kdy se bude provddét dtok 2 pt{mého dotyku?

When will an attack from direct contact be carried out?

11. Jak& palba se zahdjf pfed vyraZenim jednotek na zteé&?
what kind of fire is opened before units jump off for an
assault?

12. Pro& se zadlefujf Zenijnf{ jednotky a prostfedky do bojové

sestavy roty?

Why are engineering units and equipment included in a company
combat formation?
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KEY TO PRACTICE EXERCISE 5

Here are the questions, their translations, and acceptable answers

1,

Jaké zplsoby uto&ného boje rozezndvime?

Which methods of offensive combat do we recogﬁize?

We recognize two basic methods of offensive combat, attack
from the march and attack from position in contact.

Kta2ry zpisob dtoZného boje pfevlddd?

which method of offensive combat predominates?

The attack from the march predominates.

Jaky je postup pfi pfechodu do dtoku z chodu?

What's the procedure during the transition to the attack from
the march? ’

During the transition to the attack from the march, the units
make successive deployments from the assembly area to the -
assault position. At designated lines, they deploy into bat-
talion, company, and platoon columns. The individual stages
are called march formation, approach-march formation, and
combat formation.

Jakou nevyhodu md dtok z chodu?
Wwhat's the disadvantage of an attack from the march?
The disadvantage of an attack from the march is that it create

a lot of difficulties coordinating fires in support of the
maneuver force.
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Vyjmenujte nevyhody dtoku z dotyku s nepiitelem!

Enumerate the disadvantages of an attack from contact witn che
enemy.

The disadvantages of an attack from position in contact with
the enemy are as follows: it places the units under threat
of attack while organizing for the attack and it lessens the
chance of surprise.

6. Které jsou dvé zdkladnf formy manévru v dtoku?
Which are two basic forms of maneuver in the attack?
In the attack, two.basic forms of maneuver are the flanking
movement and the envelopment.

7. Co je to obchvat?
Wwhat is an envelopment?

" An envelopment is a type of maneuver requiring the enemy to

turn and fight in a new direction.

vf;};g’v 8. Kteéré sestavy pouifvajf motostfelecké jednotky?

i Which formations are used by motorized rifle units?
The formations used by motorized rifle units are march forma-
tion, approach-march formation, and combat formation.

9, Jakou pfedbojovou sestavu oby&ejné& pouZivajfl motostfelecké
jednotky v otevieném terénu?

Which approach-march formation is usually used by motorized
rifle units in open terrain?

In open terrain, a line formation 1is used by motorized rifle
units, especially when the enemy defense is relatively
straight.

10. Jak velké jsou rozestupy &et v sestavé "v linii"?
How big are the platoon lateral intervals in line formation?

In. line formation, the platoon lateral intervals are from
150 to 400m.
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Jak vypadd sestava roty, kdyZ dostane rozkaz "dhlem vpfed"?

what does the company formation look like when it receives.
the order "Wedge"?

In a.company's wedge formation, one -platoon deploys its vehi-
cles in a line 150 to 400m ahead of the remaining two-platoo:
which also deploy in a line 300 to 800m apart, with the com-
pany commander centered 150 to 400m behind the base platoons
Jak vypadd sestava "stupnovité vpravo"?

What does the formation "Echelon Right" look like?

In the "Echelon Right" formation there are two platoons in
line 150-400m apart; the remaining platoon is 150-400m behin
and 150~-400m to the right.

Vyjmenujte druhy zzjisténi za pochodu!

Enumerate security measures taken during the march!

The following security measures are taken during the march,
reconnaissance, NBC defense, antitank defense, antiaircraft
defense, concealment, engineering support, and organizationa
security.

Co se stane v pff{padé nepidtelského leteckého dtoku?

What happens in case of enemy air attack?

The signal to open fire is given and all defense means, te-
spond. At the same time, the column speeds up and vehicle
spacing is increased to a distance of up to 100m between
vehicles.

Pro¢ se pochod nékdy provddi bé&hem pfipravné palby?

Why is movement sometimes conducted during preparatory fire
Movement is conducted during preparatory fire for security

reasons. The noise of the movement of armored fighting veh
cles is covered by the fire.
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KEY TO PRACTICE EXERCISE 6

Here are acceptable translations for the question and answers you
heard on the tape.

1. I: Which form of attack is expected to ptedominate?
Ktery zpisob dtoku se oéekévé; %e bude pfevlddat?
S: OZekdvd se, Ze dtok z chodu bude pfevlddat.

The attack from the march is expected to predominate.

2. I: Why is the attack from the march expected to predominate?
Pro& se o&ekdvd, Ze udtok z chodu bude pfevlddat?

S: ProtoZe to poskytuﬁe nejleps{ obranu a taky zabranuje
dlouhému zdrZovdn{ se v dostielu neptdtelského délostie-
lectva.

. It provides the best protection because it prevents a long
stay within range of enemy artillery.

3. I: Describe the transition from the march to the offense.
Popiste mi pfechod z chodu do dtoku.

S: Jednotky se postupné rozvinujf ze shromazdisté aZ do vyche-
di%ts k dtoku. Na udanych &ardch se rozvinou do prapornich,
rotnfich a Zetovych proudd. Postupné etapy jsou pfipravou
pro navdzdnf dotyku.

3 :
Units make successive deployments from the assembly area
to the assault position. At designated lines they deploy
into battalion columns, company columns, and platoon
columns.
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What are the disadvantages of attacking from the march?
Jaké jsou nevyhody dtoku z chodu?

D314 velké potiZe p¥i koordinaci paleb nukledrnich a kon-
ven&nich prostfedkd pro podporu udto&icich vojsk.

It creates a lot of difficulties in coordinating nuclear
and conventional fires in support of maneuver forces.

What are the advantages of attacking from positions in
contact?

Jaké jsou vyhody udtoku z dotyku s nepfitelem?

Dovoluje leps{i organizaci boje, protoZe koordinace udtoku

je lehc{.

It permits a better organization of the battle because it
is easier to coordinate the assault.

What are the disadvantages of attacking from poéitions in
contact?

Jaké jsou nevyhody dtoku z dotyku s nepifitelem?

Vystavuje jednotky nebezpe&{ dtoku béhem organizace dtoku
Taky omezuje mozZnost pfekvapeni.

It places units under threat of attack while organizing
the attack. Also it limits the chance of surprise.

What basic forms of maneuver are currently in use?

Jaké zdkladni formy manévru se pouzivaj{ v souasné dobé:
V dtodném boji rozezndvdme dvé formy manévru. dJsou to
bo&nf manévr a obchvat. KdyZ se to hodf, miZe se pouZit
kombinace obou.

In the offense, we recognize two forms of maneuver. Thes

are, the flanking maneuver and the envelopment. If
appropriate, a combination of the two may be used.
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8. I: Describe the flanking maneuver.
Popiste mi bodn{i manévr.
S: Bo&n{ manévr smdfuje do boku a tylu nepfitele pcmérné v
nevelké. hloubce, kterd dovoluje vzdjemnou palebnou podporu
&elné a boéné udtodicich jednotek.
The flanking maneuver goes to the enemy flanks and rear in

a relatively shallow depth, which allows mutual fire sug~
port between the frontal attack and the flanking force.

9., I: Describe the envelopment.
Popiste mi obchvat.

S: Obchvat je hlub3f manévr, ktery vyZaduje od nepfitele zmén:
sméru boje. Tento manévr se miZe uskutecnit vyuZzit{im jak
odkrytych bokl, tak mezer v bojové sestavé nepiitele.

The envelopment is a deeper maneuver requiring that the
enemy turn and fight in a new direction. This maneuver
can be launched by using both open flanks and breaches in
combat formations.

10. I: Describe the combination flanking and envelopment!
Popiite mi kombinaci boénfiho manévru a obchvatu!

S: Tato kombinace se miZe pouZit ve stfetném boji a béhem
prondsledovdn{ ustupujicfho nepiitele, za déelem pifekazit
mu vyjit{ z boje.

Such a combination may be used in the meeting engagement

and in the pursuit of a retreating enemy to cut off his
withdrawal.
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Here are acceptable questions. English translations are provide
- for-your reference.

1. Které jsou dva zdklddni{ zplisoby zahdjen{ iutoku?

f'What are the two basic methods of initiating an attack?

2. Do jakych proudd se jednotky postupn& rozvinou pEi dtoku z
chodu? . '

Into what columns do the units make successive deployment
during an attack from thé march?

3., Co dovoluje udtok z dotyku s nepffitelem?

What does the attack from positions in contact permit?

4. Které formy manévrli rozezndvdme za udtoku?

Which forms of maneuver do we recognize in the offense?

5. Kam je veden bo&ni manévr?

what is the flanking maneuver directed at?

6. Jaky manévr je obchvat?
What kind of maneuver is the envelopment?
7. Které taktické sestavy pouzivala 3. msr?
Which tactical movements were employed by the 3rd Motorized

Rifle Company?

8. Pro& zruiil velitel roty zdkaz vysildn{ rddiem?

Why did the company commander break radio silence?
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Jak daleko jede pdtraci vozidlo pted pochodovéu sestavou pfi
pfesunu?’

During the march, how far does the scout vehicle travel ahead
of the formation?
Kde vidy mus{ byt pdtraci vozidlo?

Where must the scout vehicle always be?

Kdy se pouzivd sestava v linii?

when is the line formation used?

Jak4 sestava se pouzfvd, kdyZ se dto&{ skrz mezery v nepid-
telské obrané?

what formation is used when attacking through gaps in the
enemy defense?
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SELF—EVALUATION TEST

Instructions: On tape you will hear a short interrogation dialog.
The questions will be in English and the responses in Czeckh. Writs
a Czech translation of each question and an English translation c-
each response.

thta ﬁz. Wa

——

-
100,

Pfedbojovd sestava motostfelecké roty

*dhlem vzad"
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KEY TO SELF-EVALUATION TEST

Here are acceptable translations for the cuestions and responses
you heard on tape.

1.

What offensive tactics have been employed by the 3rd
Motorized Rifle Company?

Jakou taktiku udto&ného boje pouzivd 3. msr?

A% do dne, kdy jsem byl zajat, jsme pouZivali rizné druhy
taktiky v&etn& pochodové, ptedbojové a bojové sestavy.

Until the day I was captured, we used various types of
tactics including march, approach-march, and combat forma
tions.

Very well, describe a march formation us=d by the 3rd
Motorized Rifle Company.

Tak dobfe. Popiste mi pochodovou sestavu, kterou pouZivd
3. msr.

Ta, kterou si pématujﬁ nejl{p, byla pochodovd sestava, pi
které jsme ztratili pdtrac{ vozidlo; alespon jsme si chvi
mysleli, Ze jsme ho ztratili.

The one I remember the most was the march formation in
which we lost our scout vehicle. At least for a while, w
thought we had lost it.

Why do you remember this march formation in particular?
Pro& si pamatujete prdvé tuto pochodovou sestavu?

ProtoZe velitel roty zru3il zdkaz vys{ldn{ a ohldsil dot:
s nepfitelem, zatim v3e, co se stalo, bylo, Ze pdtract
vozidlo dostalo smyk, sjelo se silnice a bylec na chvili
z dohledu.

Because the company commander broke radio silence to
announce enemy contact, when all that had happened was
that the scout vehicle skidded off the -road and was out
of his sight for a while.
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4. I: -Describe this march formation!
Popiste mi tu pochodovou sestavul
‘ss Pochodovd sestava, kterou jsme pouzfivali, je jednou 2
variant pochodové sestavy kolony, ve které jede prvni

vozidlo ndkolik set metrd pfed kolonou v dohledu velitele
roty. Ostatnf vozidla pak ndsledujf v odstupech 25-30 m.

The march formation we were using is one of the variants
of a column-march formation in which the first vehicle
travels several hundred meters ahead of the formation while
remaining in the company commander's line of sight. The
remaining vehicles would follow at 25-50m interval.

5. 1I: Describe the transition from a march formation to-an
approach-march formation!

Popiste mi pfechod z pochodové do ptedbojové sestavy!

S: To nen{ tak snadné, jak se to zdd, protoiZe druh. ptedbojové
sestavy urduje manévrovaci prostor, ktery miZe byt omezen
terénem, porostem nebo stavbami.

That's not as easy as it seems because the type of approach-
march formation is determined by the maneuvering space
which may be limited by terrain, by vegetation, or by
urbanization. ’

6. I: Then what approach-march formation is used when attacking
over open terrain?

V tom pifpad®, jakou pfedbojovou sestavu pouzivdte k dtoku
v otevieném terénu?

S: KdyZ se dtodf v otevieném terénu a kdyZ je pfedni okraj
nepféselské obrany pom&rné rovny, pouzi{vd se sestava "v
1inii”.

when attacking over open terrain and when the forward edge

of the enemy defense is relatively straight, a line forma-
tion is used.
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Describe a line formation as used by the 3rd Motorized
Rifle Company!
Popiste mi sestavuﬂ"v Iinii", kterou pouZivd 3. msr!

V sestavé "v 1linii" jsou rozstupy- mezi Setami od 150 do
400 m a velitel roty je 100 aZ 150 m za nimi.

In a line formation, the platoon lateral intervals are

anywhere from 150 to 400m with the company commander 100
to 15Qg behind them.

what other approach-march formations have been used by the
3rd Motorized Rifle Company?
Jaké jiné pfedbojové sestavy pouZivala 3. msr?

KdyZ jsme dtolili skrz mezeru v obrané nebo v hloubce
obrany nepifitele, pouZivali jsme sestavu ®$hlem vpfed".

When we were attacking through a gap in the enemy defense
or in the depth of his defense, we used the wedge formatio:
Describe the wedge formation as used by the 3rd Motorized
Rifle Company.

Popi3te mi sestavu "dhlem vpted", kterou pouZivala 3. msr.
VvV sestavé ™dhlem vpfed" jedna &eta rozvine vozidla v 1linii

150-400 m pfed zbyvajicimi dvéma &etami, které se taky
rozvinou v linii 300-800 m od sebe s velitelem roty upro-

"st¥fed mezi nimi.

In the wedge formation, a platoon deploys its vehicles in
a line 150-400m ahead of the remaining two platoons who
also deploy in a line 300-800m apart with the company com-
mander .centered between the base platoons:

Besides the wedge formation, what other approach-march
formations have been used by the 3rd Motorized Rifle
Company?

Jaké jiné predbojové sestavy pouZivala 3. msr mimo sestavy
"dhlem vpfed"?

PouZ{vali jsme sestavu "thlem vzad" a "stupnovité vpravo
a vlievo".

We used an inverted-wedge formation and the echelon right
and echelon left.

48



MTT=-2
SR2 Trans

TRANSLATION OF STUDY RESOURCE 2

Offensive Combat

The goal of offensive combat is to achieve victory over the
enemy, to destroy him completely, and to gain control of an

. important area.

The attacking units attempt to reach the target in the shorte=st
possible time. This creates better conditions for surprising the

.enemy and does not allow him to react to the newly developed situ-
"~ ation.

Offensive combat is carried out at a fast tempo and in close
cooperation between all branches of troops and weapons. Taking
into consideration the fact that offensive combat is often carried

" out in considerable depth of the enemy defenses, where it is neces-

sary to exploit not only terrain, but also gaps and unprotected

' flanks in the enemy combat formation, contemporary offensive combat
' is characterized by high maneuverability, which requires high mo-

bility of troops and equipment. Due to fast and sudden changes in

the combat situation, forced crossings of water obstacles, maneu-

'~ vering and combat in modatainous and wooded areas, boldness and

initiative of the units’are required for the success of offensive

' combat. Units must be able to utilize changes in the tactical

“ﬁ  gituation for their own benefit. This requires close cooperation

and coor¢ination of the command at all levels.

The advantage of attacking units is the possibility of select-

‘ing in advance the time and location for the combat to take place.

However, to ensure success, it is necessary to build up superiority
of fire and also striking power over the enemy. The actual attack
is carried out by motorized rifle and tank units after massive
artillery preparation fire, supported in the course of combat by
additional air and artillery strikes. They penetrate into the .

' enemy rear, which they destroy piece by piece. They disrupt his
- combat formation with fire from their organic weapons, and, in the

end, destroy him with a decisive assault. Throughout the course

of offensive combat, the role of an airborne assault force and

helicopters, especially gunship helicopters, is constantly increas-
ing.

The first task of the attacking units is to penetrate the front

edge of the enemy defense either by an attack from the move or by
an attack from direct contact.

49



MTT-:
SR2 Trans

An attack from the move can be achieved:
- by taking up a holding position, or

- without taking up a holding position and committing the
second echelon and reserves into combat.

An attack from direct contact with the enemy can be realized:
- after regrouping the units in contact and

- after replacement with units moved from the rear.

-Motorized Rifle Company in The Attack

The superior commander assigns the combat mission, which has
time and space limitations, to the company commander. The time
limitation is given as that time necessary for the fulfillment of
the mission. The space limitation is given as the width and dept
The width of the company front is 500-800m. The depth of a comba
mission is given as an immediate mission and the direction of a
subsequent attack. The company's immediate mission is to destroy
the enemy's strongpoints and. to take control of those strongpoint
The direction of the subsequent attack is the designation and
description of further combat missions in the depth of the enemy
defense.

When the company is the pattalion reserve, it receives only
direction and the manner of advance (from orders). It receives
the combat mission only after being committed to combat.

In offensive combat, the company can fulfill mission in marct
formation, in approach-march formation, and in combat formation.

In march formation a company can operate:

- during the move from the holding position to the line of
assault while attacking from the march,

- during the move in the formaﬁion of a second-echelon bat-
talion while penetrating the forward edge of the enemy
defense,

-~ during the fulfillment of the mission in battalion formati
as a forward detachment.
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In approach-march formation a company can dperate:

- during the attack from the march while deploying into a combat
formation, and during, the final assault when the enemy de-
fense suffers considerable destruction,

- during the attack from the march in thé depth of enemy forma-
tions when the situation requires fast and decisive penetra-
tion into the depth.

'. fﬂfi ’ A combat formation is formed for carrying out the final assauit
. on the defending enemy (troops). It can have the following varia-
tions: ' :

The in-line combat formation is used during the final assault
in open terrain if the forward edge of the enemy defense is a
straight line.

The wedge-combat formation is used in the depth of the enemy
defense when the situation is unclear and an enemy attack is possi-
ble from any direction. This formation is used mainly when
penetrating gaps in the defenders' combat formation and when it is

necessary to silence enemy weapons on the flanks, which were as--
signed for the protection of the gap.

The reverse-wedge formation is used to bypass the enemy and for
an assault from the flank.

Engineer‘units and equipment are included in company combat
formation for making passages in minefields and for surmounting
obstructed areas. '

51



1.

2,

3.

6.

MTT-
SR3 Trans

- TRANSLATION OF STUDY RESOURCE 3

Lieutenant Novdk, what methods are used to initiate the
attack? '

Both in theory and in practice, we recognize two basic
methods of initiating the attack, attack from the march,
and attack from positions in contact.

Which form of attack is expected to predominate?

The attack from the march is expected to predominate.

Why is the attack from the march expected to predominate?

Because it provides the best protection, since units are
initially in assembly areas behind friendly lines.

Describe the transition to the offense from the march.

Units make successive deployments from the assembly area
to the assault position. At designated lines they deploy
into battalion columns, company columns, and platoon
columns. The individual stages are called march formatio
approach-march formation, and combat formation.

what are the disadvantages of attacking from the march?
It creates a lot of difficulties in coordinating nuclear
and conventional fires in support of maneuver forces.
what are the advantages of attacking from positions in
contact?

It permits a more refined organization of the battle
because it's easier to coordinate the assault.

' Wwhat are the disadvantages of attacking from positions in

contact?

It places units under threat of attack while organizing

for the attack. Alsc it lessens the chance of surprise.
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what basic forms of maneuver are currently in use?

In the offense, we recognize two forms of maneuver. They
are the flanking maneuver and the envelopment. If appro-
priate, a combination flanking maneuver-envelopment may
be used. :

Describe the flanking maneuver.

The flanking maneuver goes to the enemy flanks and rear
in a relatively shallow depth. This permits mutual fire
support between the frontal attack and the flanking force.

Describe the envelopment.

The envelopment is deeper, requiring that the enemy turn
and fight in a new direction. This maneuver can be
launched by using both open flanks and breaches in the
combat formations. '

Describe the combination flanking maneuver-envelopment.

Such a combination may be used in the meeting engagement
and in the pursuit of a retreating enemy to cut off his
withdrawal.

Well, Lieutenant Novdk, let's talk about the 3rd Motorized
Rifle Company's tactics. What offensive tactics have been
employed by the 3rd Motorized Rifle Company?

Up until the day I was captured, we had employed a series
of tactical movements including march formations, approach-
march formations, and combat formations.

Very well, déécribe a march formation used by the 3rd
Motorized Rifle Company.
The one I remember best was the march formation in which

we lost our scout vehicle, at least for a while, we
thought we had lost it.

53



l6.

17.

18.

19.

MTT-
SR3 Trans

Why do yod remember this march formation in particular?

Because the company commander broke radio silence to
announce enemy contact when all that happened was that
the scout vehicle skidded off the road and was out of his
sight for a while. : .

Describe this march formation.

The march formation we were using is one of the variants
of a column-march formation in which the first vehicle
travels several hundred meters ahe#d of the formation,
while remaining in the company commander's line of sight
The remaining vehicles would follow at 25 to 50m interva

Describe the transition from a march formation to an
approach-march formation.

That's not as easy as it seems because the type of
approach-march formation is determined by the maneuverin
space, which may be limited by the terrain, by vegetatio
or by urbanization.

Then, what approach-march formation is used when moving
over open terrain?

When operating in open terrain, and when the forward edc
of the enemy defense is relatively straight, a line
formation is used.

Describe a line formation as used by the 3rd Motorized
Rifle Company.

In a line formation, the platoons' lateral intervals are

anywhere from 150 to 400m, with the company commander
positioned 100 to 150m behind the line.

What other approach-march formations have been used by
the 3rd Motorized Rifle Company?

when we were moving through gaps in the enemy defense,
in the depths of his defense, we used the wedge formati
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Describe the wedge formation as used by the 3rd Motorized
Rifle Company. v

In the wedge formation, a platoon deploys its vehicles in
a line 150 to 400m ahead of the remaining two platoons,
which also deploy in a line 300 to 800m apart, with the
company commander centered 150 to 400m between the base
platoons. '

Besides the wedge formation, what other approach-march
formations have been used by the 3rd Motorized Rifle
Company?

We've used an inverted-wedge formation and the echelon-
right or left formation.

What is the difference between the wedge and the inverted-
wedge formations?

The basic difference is that in an inverted-wedge forma-
tion, two platoons deploy their vehicles in a line 300 to
800m apart, and the company commander is 75 to 200m in
front of the base platoon.

Describe the echelon-right formation.

Echelon-right or left is used when a flank threat exists.
The echelonment is to the direction of the threat. 1In
the echelon-right formation, there are two platoons in a
line, 150 to 400m apart. The remaining platoon is 500 to
400m behind and 150 to 400m to the right. The company
commander is positioned 150 to 400m behind the center
platoon. v

What ‘other approach-march formations have been used by
the 3rd Motorized Rifle Company?

As far as I know, those are the only approach-march
formations used by the 3rd Motorized Rifle Company.
wWhat security measures are taken on the march?

There are several security measures taken on the march.
Among the most important considerations we include recon-=

- naissance, NBC defense, antitank defense, air defense,

concealment, engineering support, and organizational
securitye.

55



26.

27.

28.

29.

30.

31.

MTT=-2
SR3 Trans

Then, what reconnaissance is conducted on the march?

Reconnaissance is continuous along the march route and or
the flanks. It provides timely warning of enemy attack
and the location of his forces. It also includes route
conditions related to both trafficability and the presenc
of chemical, radiological, or bacterial contamination.

What security measures are taken to protect the troops
against the effects of weapons of mass destruction?

There are active and passive measures to protect the
troops. For example, passive protection is obtained
through dispersion of the force both laterally and in
depth and through warning of contaminated areas by recon-
naissance elements. Active protection can include the
early identification and destruction of enemy means -of
delivery.

Wwhat antitank defense measures are taken during the marc]

They are based on the unit's organic antitank element an
are reinforced, as required by enemy threat, with tanks
and self-propelled artillery.

what air defense measures are used during the march?

Column cover for the march is planned in advance and
includes organic antiaircraft weapons and many other air
defense means provided by senior commanders.

What is the disposition of the air defense weapons?

Air defense weapons can be located in the column or in
stationary positions occupied in advance. However, when
marching to combat in potentially hostile territory, the
weapons are distributed throughout the column.

What actions are taken by the maneuver commander when
attacked by enemy aircrait?

The maneuver commander gives the signal to open fire, th
all the air defense means, respond. At the same time, t
column speeds up and vehicle spacing is increased to a
distance of up to 100m between vehicles.
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What concealment measures are taken during the march?

For example, at times movement is conducted during prepar-
atory fires, which cover the sound of movement of armored
fighting vehicles. Further, every effort is made to con-
trol the march without using electrical means subject to
detection by enemy radio and radar intercept means.
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ENRICHMENT SUPPLEMENT

-

This supplement is designed to provide you with additional
vocabulary and experience in translating Czech. It also contains
information about a forced river crossing as performed by the
units of the CPA during one of their field exercises which in-

terrogators might find useful.

Motostfelci v dtoku
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Ndsilny pfechod Eeky

Je noc. Postupujici{ jednotky neberou ohled na zimu a mrdz
pohybujfc{ se kolem deseti stupni. V cesté je piekdzka. Prizkum
zjisfuje vSechny potfebné ddaje, které budou slouZit k pldnovdni
zplsobu pfekrofeni feky. Polet df{id mostu je urden jejf 3ifkou.
ddaje o moZnych pfistupech k Fece a vyjezdech poslouzi ke stanoven
bojové sestavy motostieleckych jednotek, a taky pro stavbu ponto-
nového mostu. N&sledujf ddaje o toku a rychlosti proudu, terénu,
stanovené dnosnosti mostu... Pak odstrafiovdni piekdZek, které tu
dmyslné& zanechala vojska nepritele.

Motostfelecké jednotky v této chvili svdd&j{ boj s ustupujicin
nepf{telem. Najednou palba z nas{ strany ustala. Ticho je pted-
evést{ né&deho vyznamného a dileZitého. V tom nalétdvaji bojovd
letadla a shazujf{ bomby. 2a chvili se za nimi, skoro mezi stromy,
pEibliZuj{i vrtulniky 2 z palubnfich zbrani ni&f zbytky odporu ne-
pfitele.

Uz3{ pfedmosti je .vytvofeno. Kryté palbou a skoro nepozorovar
pfij{%d&jf k Eece obrnéné transportéry v sfle asi jednoho motostie
leckého praporu. Rozvijeji se do bojové sestavy a vzdpétl se noi
asi do dvou tfetin, do ledové vody. Vyénivd jen horni &4st korby,

stfeleckd vé%Z, pozorovaci{ piistroje a samozfejmé vyfuky motord.

Palba neustdvd, do vody vjizdéj{ dals{ a dals{ trojice vozidel
Prvni uz vyj{#déj{ na protilehlém bfehu feky. OkamZité& zahajuji
palbu, aby podpoiily boj jednotek bojujicich v hloubce nepifdtelskse
obrany a -umoZnily stavbu mostu.

Pfijf£3d&j{ pontonisté na svych osumsettifindctkdch, celd kolon:
Sj1%d&j{ k Eece a od ndjezdu smérem proti proudu postupné shazuji
pontony. Na Eece &ekaji motcrové &luny. Sotwa pontonisté spojil.
jednotlivé pontony do Zetovych a rotnich dsekd mostu, uz je vojdc
%lunové ety pfipojujf k tazZaym &lunim a pfetahujf{ na druhou stra:
feky. Jedna pllka mostu se vybuduje na jedné a druhd na druhé
strané feky. Obé pilky, zakotvené na bfezich, se pak nechajf und
et proudem pod kontrolou Yenisti, a%Z se spoji v jediny most.

Po rychlé dpravé ndjezdd a ukotvenf mostu vjiZd{ na most za-~
td%ovac{ vozidlo a po kritké prestdvce za nim: jede celd kolona

kolovych vozidel.
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Forced River Crossing

It's night. The advancing units ignore the cold and frost,
hovering around ten degrees below. There is an obstacle in the way.
Reconnaissance is finding out all the necessary data which will.
serve for planning the river crossing. The number of bridge sec-
tions is determined by the river's width. Data about the possible
approaches to the river will serve for determining the combat for-
mation of the motorized rifle units and also for building the
pontoon bridge. The data about the flow and the speed of the cur-
rent, terrain, stated tonage of the bridge follow... Then follows

a removal of obstacles, purposely left there by the enemy.

. At this moment, motorized units are fighting with the retreat.
enemy. All-of-a suddegf the firing on our side stopped. Quiet
foreshadows something notable, important. At that moment, ground-
support planes are coming to bomb. Following soon after, almost
down among the trees, helicopters are approaching to destroy the
remnants of enemy resistance with their on-board weapons.

A narrow bridgehead has been created. Covered by fire and
almost unobserved, armored carriers in battalion strength reach the
river. They are deploying into combat formation and, in no time,
are about two-thirds submerged ,in icy water. Only the upper part
of the body, turret, observation instruments and, of course, the
motor exhaust pipes are sticking out of the water.

Firing doesn't cease. Trio after trio of vehicles enter the
water. The first ones are already climbing the opposite bank.
They start firing immediately to support fighting units in the
depth of enemy defenses and to make possible the building of a
bridge.

Engineers with pontoons on their 813s are arriving; the entire
column. They drive down to the river and one after the other drop
their pontoons starting at the approach to the bridge and continu-
ing against the current of the river. The motor boats on the rivexr
are already waiting.

The engineers connect the pontoons into platoon and company
sections. The soldiers from the motor boat platoon hitch them to
tugboats and pull them to the other side of the river. One-half
of the bridge is made on one side and the other half on the other
side of the river. Both halves, anchored to the banks, are then
carried by the current, under control of engineers, until they are
joined into a single bridge.

After a speedy preparation of the approaches and after the
bridge is anchored, a weighted test vehicle drives on the bridge
and after a short interval, a whole column of wheeled vehicles
drives behind it.
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Boj pokraduje. Tankové jednotky jsou pfipravené. Ve vylkd-
vacim postaveni doplnily pohonné hmoty a stielivo, oSet¥fily tanky
a provedly maskovdni. Jakmile motostifelecké jednotky dosdhnou &4r
zasazen{ druhého sledu, tanky na povel "vpfed" piekro&i feku a za-
sdhnou do boje. Brzy nato se pfesune po mosté& délostielectvo,
baterie pe baterii. Po malé pfestdvce budou ndsledovat zdsobovac{
kolony.

fenisté splnili svij udkol na vyte&nou.
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The fighting continues. Tank units are ready. In the holding
position they. replenish their fuel and ammunition, carry out main-
tenance and camouflage. As soon as the motorized rifle units will
reach the line of deployment of the second echelon, the tanks, at
the command "Forward,” will cross the river and enter into combat.
Soon after that, the artillery will move across the bridge, battery
2f§§r battery. After a short interval, the supply columns will

ollow.

The engineers fulfilled their task, they did an excellent oD,
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